Table S6. SL-E logarithmic gains (metabolites) with magnitudes greater than 1

X1 X X3 Xy Xsg X X7 Xg Xg Xio Xir Xpp Xz Xz Xis Xge

Xizz - 150 - <152 243 281 - - e e e en e
Xigs == = e e 143 2165 o e e e e e e
Xigg = <170 - 172 275 347 - e e e e e e e

X126 - - - - - - - - - - - - - - -

Xizr == e e e e e e 102 e e e e e o 350

X128 _1.01 === === === - === === === === === === === === === ===
Xio - 113 o= 112 <182 207 o= e e e e e e

X2 - - 122 -= o= = 118 188 - 642 207 -~ - 199 - -14.29

Xz - 286 -179 -290 -360 -415 -1.82 =-273 - = - - 484 - o
X134 - - - - - - - 164 - - - - - - -
Xigs == = == wee 145 2168 e e e e e e e e

X138 === === === 1.01 - === === === === === === === === === ===

X139 === === === === == === === === === === === === === === === 3.65

O 1 Y A T Y -1- S—

Xug - e e e e e e e e e e e o 236 -- 507

Xg = e e eee e 199 <187 e e e e
X146 - - - - - - - -293 - - - - - - -

Xz == = e e e e e 341 100 329 - e - - 101 779
Xus == = e e e e e 471 e 165 e e e e o 390
Xug == = 125 - - e 2120 -191 - 652 210 - - 202  -- 1452
X~ == == == e w110 - -107 - 649 209 - - 218 - -1468

Xie - 475 - 481 757 873 - - = 172 = e o oo .. 15l

Xiss - - 217 == e 109 - <151 e e e e e e e

S X S B

Xy - 289 181 293 364 419 184 275 e e e e e

Xgg - - 122 - = = 117 188 -~ 640 206 - - 199 - -1425

Xigo - 150 - <153 240 277 - e e e e e e
Xigs - 301  -- 305 -484 -559 - w0 o e e e




Table S6. (cont...).

X7 Xig Xig Xoo Xor Xo Xoz Xoa Xos Xog Xo7

Xipp 481 207 - 1315 200 200
Xip3 283 -~ =~ 175 - 772 118 118
Xipq 544 -~ - 336 - 1488 227 227
X125 U .Y A
Xipg 855 = - e e 221 e
X130 X
Xizp 705 -222 -101 -156 -1.05 - 353 -219 571 -~ -
X133 - <o
Xigq 286 = e
X135 . N
Xizg 156 = e e e e
Xyapg 110 = e
X143 S N —
X144 - -- -194 204 - 105 - -
Xqas 200 =~
X146 e 216 232 - 107 e e
X147 = 108 116 e e e e
X148 N
Xiag 284 e e e e e 1200 e e
Xigp 1479  — =~ 915 - -1599 -244 -2.44
Xis4 186 123 - - e
X155 N
Xis7 712 224 102 157 106 - -356 221 576 - -
X158 Y3 —
Xisg 469 -~ = - - 200 -226 507 - -
Xigg 955 - = - = - 580 -
Xig5 740 233 106 164 111 -~ 370 230 599 - -
X771 102 = e e e e 278 e e
X172 S o J—
Xizg = = e e e e e e e e 00
X174 e e e e 109

Xl77 - - - - - - - - - - o

Xi7g = = e e e e e e 109 e e
Xigg 102 = - e e e e e 278 e e




Table S6. (cont...).

X3z X3y Xgs Xzgs Xaz Xsg Xzg  Xygo
Xip, 053 775 863 402 46l 1362 401 1726
Xipg 384 485 507 23 271 - 235 1014
Xipy 739 877 977 455 522 949 454 1953
Xpps 112 134 149 23 = 297
X128 - - -7.91 - -
Xygo 229 23 238 = 112 13 = 4TS
Xy 281 33 373 170 -~ 172 745
Xyg 238 238 240 = 113 139 -~ 483
Xysp 766 915 1021 -489 579 - 488 2043
Xy, 284 838 876 71— AT3 782
Xigg 228 23 237 = 11l 137 -~ 474
Xigg 243 290 324 185 184 - 155 648
Xigg — - X F S —
Xigs - e 1584 -
Xygs 29 351 391 178 -~ 180 782
Xizq 118 140 156 - = - — 31
Xizg 324 = -
Xy, - 386 -
Xigg 118 140 156 - e —~ 31
Xigy 260 260 260 - o — 519
Xig 260 260 -
Xigg = o 280 = e — 519
Xige -~ o 397 185 208 -~ 185 T4




